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[Option ID = 3817]
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[Option ID = 3818]
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[Option ID = 3819]

4. ‘_-/:.Av

[Option ID = 3820]

Topic:- 28_Set2_PART_C
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[Question ID = 956][Question Description = 196_28_URD_SEP22_S2_Q96]
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[Question ID = 957][Question Description = 197_28_URD_SEP22_S2_Q97]
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[Question ID = 958][Question Description = 198_28_URD_SEP22_S2_Q98]
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[Option ID = 3829]
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[Option ID = 3830]
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[Question ID = 960][Question Description = 200_28_URD_SEP22_S2_Q100]
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[Option ID = 3837]
2. /-f

[Option ID = 3838]
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[Option ID = 3839]



4. .—6

[Option ID = 3840]
Topic:- GP_Set2_SHIFT2_A

1) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-E. Some
of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
C 8000 35% 15 %
D 45 % 3600 25 %
E 38 % 32% 4200

foraiferfRaa aiferet 3 A A E ao @ freot 92l 3 ydl, afdensil siik gieaeisd @ 2icst 3 SoRiRe o1 9162 - arR i1 <9Ikl sRI 3 33 diferst 3 8
3t yferord (%) 3 3, Siafes @ siiws dwm A & s aifere d U s1e sfiwps] & sneR R ofld & 51w yesll & 3= v &

SIGIAIRIT DT 9162 - AR AT

SIGIRIZSRT BT AT
A |45%| 30% | 2,000
50 % | 3,000 | 35%
8,000 35% | 15%
45%| 3,600 | 25%
38%| 32% | 4,200

I8

moin W

Population of City 'C' is what percent less than the population of City 'B'?
9182 - 'B' @1 Storizean 1 getont 3 9182 - 'C' Y Storizn fepdol yferord a3 ?

[Question ID = 1050][Question Description = 101_0_GP8_SEP22_S2_Q01]
30 % [Option ID = 4197]

25 % [Option ID = 4198]

20 % [Option ID = 4199]

17.5 % [Option ID = 4200]

A W N =

2) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-E. Some
of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgoiferRaa anferet 3 A 21 E ao @ fireor 9rs2i 3 g, aifdemsil siiz giasisd @ Ficsl 3 SToRizar oI 9182 - aR I GoIRII sRI 8 5 dIferaT 3 e
i gferord (%) & 3, Siafes @ s1ips A A & 31 aifere! A v s1v sfips] & R WR ofld fu 31w yesll @ 3= ifvmu @

SIGIFISAT BT 9182 - dR AT




SIGIRSAT DI RAIA
U G | afgems | cjardise
A |45%| 30% | 2,000
B |50%)| 3,000 | 35%
C (8,000 35% | 15%
D |45%)| 3,600 | 25%
E |38%| 32% | 4,200

If the ratio of literate males to illiterate males of City 'D' is 11 : 7. then what is the difference between the number of literate males and

number of illiterate males of City 'D'?

Afe 9182 - 'D' @ forgR gl oI detoll 3 AR gl @l 3iofurd 11:7 3 dl 9182 - 'D' & 18R gl 3R forgR gsul o1 izn & dia =i siar 8 ?

[Question ID = 1051][Question Description = 102_0_GP8_SEP22_S2_Q02]

1. 900 [Option ID = 4201]
2. 1050 [Option ID = 4202]
3. 800 [Option ID = 4203]

4. 1200 [Option ID = 4204]

3)

Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-E. Some
of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38 % 32% 4200

forgoiferRaa anferet 3t A 21 E ao @ fireor 9183 3 g, afdemsil siiz giasisd @ Fcsl 3 SToRizan oI 9182 - aR &I GIRII sRI & 3 dAIferdT 3 @B
i ygferora (%) & 3, Siafes @ siips A A & 31 aifere! d v s1w sfips] & R WR ofld fu 31w yesll @ 3= SIfvru @

SIGIFISRIT BT 9182 - dR AT

SIGIRSAT I RAIA

22 wou | e | gad
A |45%| 30% | 2,000
B |50%| 3,000 | 35%
C (8,000 35% 15 %
D |45%| 3,600 | 25%
E |38%| 32% | 4,200

Female population in City 'C' is how much percent less than the sum of male and transgender population of City 'D'?

9182 - D &I gz 3 girsis? SoRiw @ Ale1 df qefoll 3 9182 - 'C' &l AIfden Storizn ool gferora o 3 ?

[Question ID = 1052][Question Description = 103_0_GP8_SEP22_S2_QO03]
1. 259



[Option ID = 4205]
2. 33 = Y
"3

[Option ID = 4206]
3. s0%

[Option ID = 4207]
4. '663%
3

[Option ID = 4208]

4) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-E. Some
of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35%
c 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgotferRRaa anferet 3t A 31 E ao @ fireor 9183 3 g, aifdemsil siiz giRasisd @ Fcsl 3 STolRizcan T 9182 - aR &I GIRII 3R & 3 dIferaT 3 @O
3tiens yfererd (%) 3 3, Safds o snics dwar # & 3 aiferet 3 U s1u sriwst @ neR uR ofid e s1e yssil & 3= difste :

SIGIFISRT BT 9182 - AR AT

SIGTIARST BT RAIA

98 qou | sifas | g
A |45%| 30% | 2,000
B [50%| 3,000 | 35%
C [8,0000 35% | 15%
D [45%| 3,600 | 25 %
E [38%| 32% | 4,200

Male population of City 'E' is how much more than female population of City 'A'?
9182 - A o5 sifden storRizRn o1 getoln 3 9182 - E @1 ysy steriz=n fpdeil sifere 3 ?

[Question ID = 1053][Question Description = 104_0_GP8_SEP22_S2_Q04]
2900 [Option ID = 4209]
2840 [Option ID = 4210]
2980 [Option ID = 4211]
2920 [Option ID = 4212]

NWw N =

5) Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders of five different cities A-E. Some
of the data in the table is in percent (%) while some data is in numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30% 2000
B 50 % 3000 35%
C 8000 35% 15 %
D 45 % 3600 25 %
E 38% 32% 4200

forgaiferRaa aiferast 3 A A E ao o firoor orsl 3 g, afdemsil iz girsisd @ i 3 Slorizsar T 9162 - AR &iler ¢oIl sRI 3 53 aifert 3 oo



3t yferord (%) 3 3, Siafes o siiws dwm A 3 s aifere 3 Gu a0 sfieps] & R WR ofld 3 51w yesll & 3= v @

SIGIAIRIT DT 9162 - AR AT

SIGIIZSRIT BT AT
A |45%| 30% | 2,000
50 % | 3,000 | 35%
8,000 35% | 15%
45%| 3,600 | 25%
38%| 32% | 4,200

I8

moln0w@

Find the ratio of transgender population of City 'C' to the transgender population of City 'D'?

9182 - D 51 giersis Sorizn o1 defolt 3 9182 - C o1 CiRIsiS? SRR BT 3IGaId SISt ?

[Question ID = 1054][Question Description = 105_0_GP8_SEP22_S2_Q05]
1. 4:05 [Option ID = 4213]
2. 5:04 [Option ID = 4214]
3. 3:05 [Option ID = 4215]
4. 2:05 [Option ID = 4216]

Topic:- GP_Set2_SHIFT2_B

1) A newly joined teacher was maltreated in his/her first class by some students. Which of the following measures should be taken by
him/her?

QD ofd - fORITD sreamu® @ AT IAD] uscdl wen 3 8 BB BIGl SRI glask s sri oweeiferRaa 3i A wlet AT IURI 3A 3191ct A cron a1fdw ?

[Question ID = 1055][Question Description = 106_0_GP8_SEP22_S2_Q06]
1. Give punishment to the students.
frenfefeit @t gus Jorr aifde

[Option ID = 4217]
2. lIgnore the instance and improve his/her qualities for explaining the concept in better way.
3 Geoll W ¢I6l of b2 3IUol fwRl (PRRIte) @ s1eridol g 3Mdol Jull af 3ii2 oft siftrep srcedt e 3 IR clron anfde
[Option ID = 4218]
3. Change his/her time-table to teach some other class.
bt sror aeir 3 srearrdol 3¢ uofl ArRI - mfdvft I ufader o
[Option ID = 4219]
4. Inform the head of the institution for expelling the students.
Jizerel @ AR B 81 D forsdrRIel 3q I Bl
[Option ID = 4220]

2) A studentis a slow learner. What strategy can a teacher employ for him/her?
o B efiaft aifer o1 sifeer waf 3 ve Pigre 3ad fore o - 3l BRI oI cey 2 ADHa 3 ?

[Question ID = 1056][Question Description = 107_0_GP8_SEP22_S2_Q07]
1. Provide video lecture of the topic
forer e i3 dlaaR ygrel wen

[Option ID = 4221]
2. No need to facilitate him/her
33 AGG Dol DI IAMARIDAT olal &

[Option ID = 4222]
3. Tell him/her to learn on his/her own
3 I A el D fere dieton

[Option ID = 4223]
4. Tell him/her to take private tuition
33 forsft sroffdrsiur (cgerol) @ fere Jems ot

[Option ID = 4224]
3) The main focus of the teacher in designing assessments should be on

uop fO181P b1 Jcicbal IfdIpfeud 2ol 3 (Rsnsfoin) Ix=T r61 (Wip2a) =1 Uz dlon anfde ?

[Question ID = 1057][Question Description = 108_0_GP8_SEP22_S2_Q08]
1. activities



asifeifaferR w
[Option ID = 4225]

2. learning outcomes
3T usamull u

[Option ID = 4226]
3. attendance
Jufderfer @

[Option ID = 4227]
4. his/her behaviour
RID RABR W

[Option ID = 4228]

4) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: MOOCs have philosophy of Anyone, Anytime, Anywhere and Any number of times.
Reason R: MOOCs are 4 credit courses.

In light of the above statements, choose the most appropriate answer from the options given below

i < o Ru se 3 : uep ol sifdrperet (A) 3z g @) ®RvI (R) a1 sRI 3
aifdreperet (A) @ oo 3 DIE off, Rt oft eI, B3N 9ft Rpcofl ar @1 golor forfda arar 3
@RI (R) : 9@ 4 B3 uigaama a1a 3

IWR[Tb Bl B 3ireite 3, forgotifpd fraeul 3 A A IuYTs 30 gol

[Question ID = 1058][Question Description = 109_0_GP8_SEP22_S2_Q09]
1. Both A and R are correct and R is the correct explanation of A
(A) siiz (R) clail 2@t &3z (R), (A) &t 34 w=meen 3

[Option ID = 4229]
2. Both A and R are correct but R is NOT the correct explanation of A
(A) 3z (R) cell 2 & weoq (R), (A) P 3t w=meeen o1t &

[Option ID = 4230]
3. Ais correct but R is not correct
(A) & 8 uzsg (R) 1l ordl &

[Option ID = 4231]
4. Ais not correct but R is correct
(A) 31t o1t & weog (R) 2wt 3

[Option ID = 4232]

5) The symbol (e stands Tor

[Question ID = 1059][Question Description = 110_0_GP8_SEP22_S2_Q10]
1. Copyright

[eavinc

[Option ID = 4233]
2. Copied Component

Didis puleic

[Option ID = 4234]
3. Creative Component
fpefea awusie

[Option ID = 4235]
4. Creative Commons
fapufea o

[Option ID = 4236]

6) The advantages of longitudinal research on the internet are
A. The internet panels are representative of the entire population.

B. Everyone has access to Internet.



C. A large number of people can be empanelled.
D. This makes it easy to collect data from the respondents.
E. Data collection over Internet can be rapid.

Choose the correct answer from the options given below:

§cTolc UR 3MoSEd - ofler @ iy & ?

A. gcore Holer 3yt Siorizsn @ yfifsiirmeaes ara s

B. I uri $colc ugd e 3

C. a3} Jizean 3 clisil o1 it 3 ormeiccrza ($dorcl) fopan st Awar 3
D. 1z il 31 siichsT oy 2ol B IMRITGl Folldl &

E. $coic uz siiwst JHsjgur iq| sifer A fopa oif Awar 3

offa fee a1 forpeul 3t 2 3181 3= gol :

[Question ID = 1060][Question Description = 111_0_GP8_SEP22_S2_Q11]
1. A, BandConly
@dact A, B sz C

[Option ID = 4237]
2. B, Cand D only
@act B, C sik D

[Option ID = 4238]
3. C,DandEonly
@act C, D3R E

[Option ID = 4239]
4. A, D and E only
@act A, D iR E

[Option ID = 4240]

7) Given below are two statements
Statement I: If a hypothesis is accepted when it should be rejected, then type | error is made.
Statement IlI: If a hypothesis is rejected when it should be accepted, then type Il error is made.

In light of the above statements, choose the most appropriate answer from the options given below

oif<l 5 e Guse 3 :

Dol - | : S/ P graweust o1 519 6 331 oIPIRI Sifoll a1f3T b2 sft TdierR o2 fern sirar 3 a4 sE! ey - | gfe 38 urlt st 3
@2l - |l : sta fepdl graascusit @l Safds 31 FdidRI Silell aifay fib2 9t 331 st f&an Sirar & ad s asu |l gie g8 urll sicdl 3
SuRfes wersil B airciie 3 RReiRiR Riasedl 3 31 2 3z ol :

[Question ID = 1061][Question Description = 112_0_GP8_SEP22_S2_Q12]
1. Both Statement | and Statement Il are correct
el | 32 | Srell 38t &

[Option ID = 4241]
2. Both Statement | and Statement Il are incorrect
el | 32 | SXell steta &

[Option ID = 4242]
3. Statement | is correct but Statement Il is incorrect
Dol | A8t 8, fepog perat |l stera 3

[Option ID = 4243]
4. Statement | is incorrect but Statement Il is correct
el | oretd 3, fboq weret |1 21t 3

[Option ID = 4244]

8) Imagining things as if they are real is known in research as

et ofter 3 arqil &1 weuel 31 WU 3 Dol b Sl a8 araa 3 JAlsIg 3, 3 33 WU A SIel ST 3 ?

[Question ID = 1062][Question Description = 113_0_GP8_SEP22_S2_Q13]
1. Virtual reality
3ot rermef



[Option ID = 4245]
2. Replication

Yoragfer

[Option ID = 4246]
3. Reification
QDT

[Option ID = 4247]
4. Simulation
3lofReUdl

[Option ID = 4248]

9) Selecting only those items of data that support a theoretical concept, is called

3MipsI B Dad Iol AGI BT IRIeT Dol Sit b e Agifered sraenzon o1 Jarelst w2a 8, as daclar s -

[Question ID = 1063][Question Description = 114_0_GP8_SEP22_S2_Q14]
1. Data Selectivity
3[16331%1’&6]1‘?12[?{1

[Option ID = 4249]
2. Idea preference
Rz adRrar

[Option ID = 4250]
3. Concept choice
3[aemRun fdmea

[Option ID = 4251]
4. Thesis hunting
olter - yger bl detror bl

[Option ID = 4252]

10) In the deductive method, a researcher can begin his work with which of the following options ?
A. Policy statements

B. Social identity of the researcher

C. Theoretical postulations

D. Exploratory data

E. By deriving a hypothesis

Choose the correct answer from the options given below:

fororarat farfer 3t was oNteraaf foaifeiRaa 3 21 fpet fraseul @ rer 3ract 9Ner BRI B JRH B ADAI S ?
A. ofifer - werer

B. enerelf &1 AmanfSras usarer

C. JAgifere siguera

D. sead sriwsst

E. fpil gramcusll @1 RIrUsol ol D SRI

ofia fow a1 freseal 3 21 318l 3= gol :

[Question ID = 1064][Question Description = 115_0_GP8_SEP22_S2_Q15]
1. A, BandConly
Dac A, B iz C

[Option ID = 4253]
2. A,DandEonly
@act A, D sl E

[Option ID = 4254]
3. B, DandE only
@act B, D 3l E

[Option ID = 4255]
4. C,DandE only
@act C, D3R E

[Option ID = 4256]



11) The reification of stereotypes is made possible by communication through the use of

fopara SuRIleT & A1EH A AFJUVT FIRT 3G YUl @ dol azdavl (Rsfibadorer) oY FHerd SotrIr Sirar 3 :

[Question ID = 1065][Question Description = 116_0_GP8_SEP22_S2_Q16]
1. Social equivalence
AHIRID JFFAGERIAT

[Option ID = 4257]
2. Personal attributes
FIfepD U1

[Option ID = 4258]
3. Language
EIeig

[Option ID = 4259]
4. ldeological linearity

Jaid® seRIAr
[Option ID = 4260]

12) Classroom communication will facilitate learners to

A. meet emotional and social needs

B. acquire scientific attitude

C. develop critical thinking

D. become independent of the community in which he lives in
E. discard the familiar patterns of social relations

Choose the correct answer from the options given below:

@it 3 AT fArenfRil @Y b1t JAsrRIar wI¥sm ?
A. AITeIIcHD Td ATHIID SITA9ADBATAT T gfef 3t
B. dsufores sifdrgfir sfgur ol 3

C. strcliaeica® Ridot @1 fawla w2t 3

D. 331 AHgRI A Fadod alol 3, Rl as aar 3

E. armfore Fdel @ ufifRra teof ot seror 3

offax fee a1 ferpeul 3t 21 181 3= gol :

[Question ID = 1066][Question Description = 117_0_GP8_SEP22_S2_Q17]
1. A, BandConly
@dact A, B aiiz C

[Option ID = 4261]
2. B, Cand D only
@act B, C 3z D

[Option ID = 4262]
3. C,DandEonly
@act C, D3R E

[Option ID = 4263]
4. A, D and E only
@act A, D iR E

[Option ID = 4264]

13) Which of the following are the finer points of effective listening?
A. Not observing the speaker

B. Not reflecting back on what is said

C. Staying indifferent

D. Asking questions for clarity

E. Focusing attention on what is said

Choose the correct answer from the options given below:



forgatferRaa 3t 3 oot A Yerrdl ofaur & sif2re ufvsma fig d ?
A. aTb1 @Y eATeIgdd of S¥Toll

B. Sit @8I RN 3, 33 UR Yol: Holol of DIoIl

C. 3erfior 3801

D. Fuscar @ fere grat gl

E. 33 uz earel B wzolr, Rrad> ar? 3 a1 orr 3

ofla f3u a1 farascul 3 A Ad) Ia= gol

[Question ID = 1067][Question Description = 118_0_GP8_SEP22_S2_Q18]
1. A, Band Conly
@dact A, B 3z C

[Option ID = 4265]
2. B, CandD only
@act B, C 3l D

[Option ID = 4266]
3. C,DandEonly
Pact C, DR E

[Option ID = 4267]
4. A, Cand E only
dact A, C3iR E

[Option ID = 4268]

14) Given below are two statements
Statement I: New communication technologies have created social awareness across cultural boundaries.
Statement II: The disintegration of institutionalised centers of responsibility because of new communication technology is a hard fact.

In light of the above statements, choose the correct answer from the options given below

ofi<l GI werer fGu sre 3 :

@l - | 1 AFYUT B oF awoilcl of Astl Alrpicre Hiarall 3 ARNRI® SIPRswdI Icusol &I &
Dol - |l : o FAFuu1 GieNBrebl @ BRI ITUCIRITT B AR Dl B fdErcs! o Bbg aea 3
IWRLTP Dcil B 31l 3 forsifeRaa fravcul 3 A 718 3a= gol :

[Question ID = 1068][Question Description = 119_0_GP8_SEP22_S2_Q19]
1. Both Statement | and Statement Il are true
werat | 3tz | Srelt 218 &

[Option ID = 4269]

2. Both Statement | and Statement Il are false
werat | 8iiz | Srell steta &
[Option ID = 4270]

3. Statement | is true but Statement Il is false
el | A4 8, fpog et | steia

[Option ID = 4271]
4. Statement | is false but Statement Il is true
el | sreid 8, fbog et |1 21 8

[Option ID = 4272]

15) Match List | with List Il

List | List Il

Type of Communication Audience Type|
IA. Inter-personal I. Fragmented

B. Organisational Il. Anonymous
C. Mass Ill. Dyadic

D. Social IV. Identifiable

Choose the correct answer from the options given below:

el -1 w1 3t -l A AR BRI :

et -1 ozt -l
(399001 B yoR) (oQxen3ii T yoo1R)




A. 3ic? - daftpd |. zausIcas

B. FisToolca®m 1. arstTa

C. =muas 1. grdbrr

D. aAnfors IV. usaretol Asa

offa feu o1u ferpeul 3 21 218l 3a= gforu :

[Question ID = 1069][Question Description = 120_0_GP8_SEP22_S2_Q20]
A-1,B-1l,C-1ll,D-IV[Option ID = 4273]
A-11,B-1l,C-1,D-IV[Option ID = 4274]
A-1V,B-1,C-Ill, D -l [Option ID = 4275]
A-1ll,B-1V,C-1l,D-I[Option ID = 4276]

Nw N =

16) A man travels 12 km straight towards south and then turns right and travels 15 km straight. He again turns right and travels 12 km.
How far is the man from the starting point?

o el 12 fepeilsiics gidiur &1 arwp Hlen wctar 3 sii? b2 <18 ¥ Sirar & 3k 15 fepcilsiies Hien werar 8 g 3ncdl Yor: <1 311R IS SiIel 3 311 12 fpelidfic? aerar &
yrRfte fig A sncdl Reaeil gl az 3 ?
[Question ID = 1070][Question Description = 121_0_GP8_SEP22_S2_Q21]

27 km
27 fpelisfies

1

[Option ID = 4277]
2. 39 km
39 fpetofics

[Option ID = 4278]
3. 24 km
24 fpeiisfies

[Option ID = 4279]
4. 15 km
15 fbellafies

[Option ID = 4280]

17) Find the missing term in the series below:

0, 6, 24, 60, 120, 210, ?

ofl 1 a1 Qjaen 3 ¥ ug @) WY
0,6 ,24 ,60 ,120 ,210 ,7

[Question ID = 1071][Question Description = 122_0_GP8_SEP22_S2_Q22]
. 290 [Option ID = 4281]
. 504 [Option ID = 4282]
. 336 [Option ID = 4283]
. 338 [Option ID = 4284]

AW N =

18) Of the three numbers, the second is twice the first and is also thrice the third. If the average of the three numbers is 44, what is

the largest number?

citor AAzcamail 3, gd} F¥RM usct iz o1 <Y JYoit iz st oY et apofl 8fi 3 AfS clell JAz=maii b1 sfieret 44 3, AT &1 xRN Dot A1 3 ?

[Question ID = 1072][Question Description = 123_0_GP8_SEP22_S2_Q23]
. 24 [Option ID = 4285]
. 36 [Option ID = 4286]
. 72 [Option ID = 4287]
. 96 [Option ID = 4288]

Nw N

19) A person invested 1/3 of his capital at 7%; 1/4 of his capital at 8% and the remainder at 10%. If his total annual income from the
investment is ¥ 561, then what is the total investment made by the person?

o caftp el gl @1 1/3 #1191 7 % 51 €2 3, 3rueil Gt @1 1/4 91191 8 % 51 52 3 3fiv 9w 91131 10 % Y 52 A forder wear 3 Afe forarer A 3D et arftfes s =.
561 3, al caftp gI=1 fap=n srRi aget forder fopdor 37

[Question ID = 1073][Question Description = 124_0_GP8_SEP22_S2_Q24]
. 6600 [Option ID = 4289]
. 6500 [Option ID = 4290]
. 7000 [Option ID = 4291]
. 5500 [Option ID = 4292]

AW N =



20) What can be the value of a single discount equivalent to a series discount of 10%, 15% and 25%?

10 %, 15 % 3ii? 25 % @ vt B P B TR Tbel ¢ DI Aol TR 31 ADAT & ?

[Question ID = 1074][Question Description = 125_0_GP8_SEP22_S2_Q25]
. 42.63% [Option ID = 4293]

. 40.605 % [Option ID = 4294]

. 35.605 % [Option ID = 4295]

. 35.625 % [Option ID = 4296]

Nw N =

21) In Classical Square of Opposition, if 'Some S is not P' is true then which of the following could be immediately inferred from it?
A.'Some S is P' is false

B.'All S is P' is false

C.'No S is P'is undetermined

D.'Some S is P' is undetermined

E.'All S is P' is undetermined

Choose the correct answer from the options given below:

el @ o aqufs 3 afe '@o S, P ordl 31 3 w1ca 3 al fowarferlaa 3 31 oot A1 391 29 (grast) srepenfore 8 wdar 3 ?
A.'g® S, P 8Id &' srcida &'

B. 'asft S, P g1 ¥ arera 3

C. '®I$ oit S, P 18l 21 &' aiforerifya 3’

D.'ss S, P 8la & sifererifya 3’

E. w3t S, P X &' siforerffya 3

oftd Ru s1e Ricseul 3 3 a4l 5oz gt :

[Question ID = 1075][Question Description = 126_0_GP8_SEP22_S2_Q26]
1. A, Cand E only
dact A, C3iR E

[Option ID = 4297]
2. B, Cand D only
@®act B, C sz D

[Option ID = 4298]
3. C,DandE only
dact C, D 3z E

[Option ID = 4299]
4. A, Band Conly
@dact A, B siiz C

[Option ID = 4300]

22) Which of the following fallacy is a result of defective induction?

forotferRaa 3 A wiol AT ABSIY A PG BT ufyoma 3 ?

[Question ID = 1076][Question Description = 127_0_GP8_SEP22_S2_Q27]
. Fallacy of Composition
3iErcol @I dd GIu

1

[Option ID = 4301]
2. False Cause
frearpRUI Sy

[Option ID = 4302]
3. Begging the Question
SICHIQRT ST

[Option ID = 4303]
4. Irrelevant Conclusion

BYRIBID forsatd

[Option ID = 4304]

23) Given below are two statements



Statement I: "To slow a beast, you break its limbs. To slow a nation you break its people.”- is an example of analogical argument.

Statement II: "To slow a beast, you break its limbs. To slow a nation you break its people”- is an example of nonargumentative use of
analogy.

In light of the above statements, choose the correct answer from the options given below

oii<l g e [Gu e 3 :
et - | 1 "fpl ugl B dic B0l D fere IAD 3ivll DI dls 51 RRpl I, DY Jic Dol B ferw 3D STotet DI Al 31 "' - AT ATEIAIPCTD YD BT IGIET &

et - |l : "Rpfl ugl B dic Dol D e 37D 3401l B dls 51 Rl Ieg, B i Dol D fére IADT SToldl DI A S " - AT AR D 32 - JFRPUID YRIIGT BT ISIEI0T
2

IUR[Tb Dol @ sireite 3 fooifeiRaa faeul 3 A A8} 3w gol :

[Question ID = 1077][Question Description = 128_0_GP8_SEP22_S2_Q28]
1. Both Statement | and Statement Il are true
werat | 3tz | Srett 218 &

[Option ID = 4305]
2. Both Statement | and Statement Il are false
werat | 8iiz | Sreil sreta &

[Option ID = 4306]
3. Statement | is true but Statement Il is false
el | 24 8, fpog et |l stera &

[Option ID = 4307]
4. Statement | is false but Statement Il is true
el | srcia 3, fpog et |1 218

[Option ID = 4308]

24) Given below are two statements

Statement I: Classical Indian logicians (Naiyayikas) define Upamana (Comparison) as the cognition of the new object through similarity,
known by another means of cognition.

Statement II: Naiyayikas consider upamana as a type of inductive reasoning and therefore view it as a type of inference (anumana) only.

In light of the above statements, choose the most appropriate answer from the options given below

ofldl Y weret e e & :

Dol - | : HRARI IIRIRI SIRIRIPHI ol IUFHTGT DI ST D 316 ATEGI GRT S ATEIRAAT D AT A oRil G D A6l D P4 3 ARRIRIA fop=r &
@l - || : SRR o IUTTGT DY PG ADBVN B YBIR B WU 3 ATl & IR sARIT 3] DacT 3reidTel B TP YPR B 3U 3 31 3

IWRfTh DUl @ srreile 3 foraifeiRaa fraveul 3 3 AT IuY 3= ol :

[Question ID = 1078][Question Description = 129_0_GP8_SEP22_S2_Q29]
1. Both Statement | and Statement Il are correct
werat | 3z 1 Sroit 218 &

[Option ID = 4309]
2. Both Statement | and Statement Il are incorrect
werat | 3iiz | Sreil sreta &

[Option ID = 4310]
3. Statement | is correct but Statement Il is incorrect
el | 24 8, fpog et | stera

[Option ID = 4311]
4. Statement | is incorrect but Statement Il is correct
el | oreid 8, foqg et |1 31 8

[Option ID = 4312]

25) Given below are two statements

Statement I: According to Classical Indian School of Logic, the method of induction is used to affirm the major premise, since generality
or universality cannot be perceived.

Statement II: Classical Indian Logicians give separate treatment of the inductive method.

In light of the above statements, choose the correct answer from the options given below

ofi<I oY eret fGu sru 3 @



et - | @ AR IIRIRI GRIRT A B IIGIAR MPTIHGT fAf2r BT YRIeT YgIaa 3merR araRr i1 el 3q R SIrar 3, arIifis AT T yraet oiél g s aasar 3
Dol - || : s oI olRIRrepI of 3remIel ff2r w1 srcter A forsuvt s 3

SWRfTb el @ sireite 3, forafeRaa facal 3 A Ad) Ia= gol

[Question ID = 1079][Question Description = 130_0_GP8_SEP22_S2_Q30]

1. Both Statement | and Statement Il are true
werat | 3iiz | Sreit 21 3

[Option ID = 4313]
2. Both Statement | and Statement Il are false
werat | 3tz | Sreit sRter &

[Option ID = 4314]
3. Statement | is true but Statement Il is false
@l | 3 8, fpog et || sricr 8

[Option ID = 4315]
4. Statement | is false but Statement Il is true
el | 3ric 8, fipog et | 31 8

[Option ID = 4316]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Free Wi-Fi access to every citizen is one of the objectives of 'Digital India' programme of the Government of India.
Reason R : ICT is a powerful enabler of a digitally empowered society.

In light of the above statements, choose the correct answer from the options given below

i <1 Pod Ru se 3 : uep ol sifdrperet (A) 3z g @) ®RvI (R) a1 sRI 3

aifdraeret (A) : YA oIPIY® bl JUd ars - BIE dd Ugd HRA IR @ DRIaH "B3ica si3ar’ & 3ol 3 A v 3
@Rl (R) : s 1 & RBireciiRn A9rp AATST BT v oiftperned ufrarcs &

SuRETD wercil B el 3 footifiva el 3 A A8 372 gol :

[Question ID = 1080][Question Description = 131_0_GP8_SEP22_S2_Q31]

1. Both A and R are true and R is the correct explanation of A
(A) siiz (R) el 3t &3z (R), (A) &t 34 =mesn 3

[Option ID = 4317]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 3z (R) cell 2t & weog (R), (A) P 31t =i o1t &

[Option ID = 4318]
3. Aiis true but R is false
(A) 3 8, weog (R) sricar &

[Option ID = 4319]
4. Ais false but R is true
(A) sria 8, wog (R) 31 8

[Option ID = 4320]

27) Given below are two statements

Statement I: In computer networking, the purpose of changing the IP addressing scheme between IPv4 and IPv6 is to allow for more IP
addresses.

Statement Il: A web cookie is stored on the server machine.

In light of the above statements, choose the correct answer from the options given below

offar S perel R are 3 :

Dol - | : DRIC? oleafwor 3, s Ul dl 4 iz ang Ul dt 6 @ e s Ui wgRier Aiston 3 uf¥acdot o1 389 3R sifere g dl vl & fere regafer Sor 3
et - || : da @bl ez FAofter 3 JAfera wsar 3

SURITD wereil @ aciies 3 BeiiRad Riaseal 3 2 & 3oz ot ©

[Question ID = 1081][Question Description = 132_0_GP8_SEP22_S2_Q32]

1. Both Statement | and Statement Il are true
werat | 3tz | greit 21 3

[Option ID = 4321]
2. Both Statement | and Statement Il are false
werat | 3tz | Sreit sRter &



[Option ID = 4322]
3. Statement | is true but Statement Il is false
el | e 8, fpog aert |1 sricr 8

[Option ID = 4323]
4. Statement | is false but Statement Il is true
el | 3ric 8, fpog et | 31T 8

[Option ID = 4324]

28) Given below is a typical URL that identifies a web page: http://book.com/author/index.html

The hostname 'book.com’ is converted into an IP address by a server that has a database of matching names and
addresses and is queried for the address.

ol uop yferstl I 3= wet fear R 3 St wes A9 Ot A Adfra 3 :
http://book.com/author/index.html
3Rk< old 'book.com’ uap 3¢ Ul T3A B WU 3 AdR SRT WUIAled 3l SIAI 3 3 A2 I o1 3= T3 D HIcTol DI TP SICIRA BIdT 3 3112 TFA I Sifd Dl &

[Question ID = 1082][Question Description = 133_0_GP8_SEP22_S2_Q33]
1. SMTP
o o & dt

[Option ID = 4325]
2. FTP
oW < i

[Option ID = 4326]
3. DNS

Sifeogeny

[Option ID = 4327]
4. HTTP

cad & d

[Option ID = 4328]

29) If you have a storage device with a capacity of 16 gigabytes, then how many 2 kilobytes files can you fit in that device? (1KB=1024
bytes)

Afe g a1 16 sfien a1se grerdr arc savI dq (31! f¥3ars?) 3, 2 Redlarsce giarar arcll fipaoil wiscll @1 321 =0dq 3 Sl A a1 i Al & ? (1 Recllarse = 1024
qI157)

[Question ID = 1083][Question Description = 134_0_GP8_SEP22_S2_Q34]
. 223 [Option ID = 4329]
. 225 [Option ID = 4330]
. 227 [Option ID = 4331]
. 229 [Option ID = 4332]

A W N =

30) Identify the correct order of the following developments ( A-E ) in the history of computing from the oldest to the more recent:
A. Facebook

B. Internet

C. Calculator Machine

D. Computer mouse

E. Programming language

Choose the correct answer from the options given below

uf¥ctol (wecgfesl) o sfeera A forotfeiRad famral (¢ - ) & A8 wa ol yrediloraa A sidiolda @ @ 3 fifsaa bifse :
A. Bag®

B. scwore

C. deraycies aiofior

D. ®wies AEA

E. Qiepfdier srem

ofl fou a1 frepel 3 21 318l 3= gol :



[Question ID = 1084][Question Description = 135_0_GP8_SEP22_S2_Q35]
. A, B, C, D, E [Option ID = 4333]
C, B, E, A, D [Option ID = 4334]
C, D, B, E, A [Option ID = 4335]
C, E, D, B, A [Option ID = 4336]

A wWw N =

)

31) The share of renewable energy in the energy mix of our country sought to be achieved by 2030 is now

BIAR 91 B Saii Broyut 3 srficrvfi SHeif @1 sior 2030 ao sra Redon Yre g sien 3 ?

[Question ID = 1085][Question Description = 136_0_GP8_SEP22_S2_Q36]
. 35% [Option ID = 4337]
. 40% [Option ID = 4338]
. 45% [Option ID = 4339]
. 50% [Option ID = 4340]

A wWwN =

32) Formation of photochemical smog involves the following
A. Carbon dioxide

B. Volatile Organic Carbon

C. Sunlight

D. Methane

E. Nitrogen dioxide

Choose the correct answer from the options given below:

Y191 IRIRIOID &3 - Dla D forariur 3 forgorferRaa onfirer 1A 3 :
A. oIddl 3I¢ saAEs

B. diciersa smeifore @rdor

C. 3t &1 yor191

D. 3o

E. sisdisior 18 sifairss

offar feu a1u fraseul 3 2 81 a2 gol :

[Question ID = 1086][Question Description = 137_0_GP8_SEP22_S2_Q37]
. A, Band Conly
@dact A, B iz C

1

[Option ID = 4341]
2. B, Cand E only
Bact B, C s E

[Option ID = 4342]
3. A, CandDonly
@dact A, C sz D

[Option ID = 4343]
4. A, B and D only
@ad A, B siiz D

[Option ID = 4344]

33) Dioxins are produced as a byproduct of
A. Forest fires

B. Incineration of plastics

C. Chemical processing

D. Volcanic eruptions

E. Diesel fuel combustion

Choose the correct answer from the options given below:

s1s31fRIel forsifciRaa @ Sulcurg @ U 3 3ol BIAI 3 :

A. dof 51 31ra1



B. wnf¥ce &1 sfiaur

C. rrafore IH1eret

D. sarenagxii g

E. Sistar $eroicaot

ofia fow a1 freseal 3 31 318l 3= gol :

[Question ID = 1087][Question Description = 138_0_GP8_SEP22_S2_Q38]
. A, Cand D only
dact A, C, D

1

[Option ID = 4345]
2. B, Cand D only
@act B, C, D

[Option ID = 4346]
3. C,DandEonly
@act C, D, E

[Option ID = 4347]
4. B, CandE only
@act B, C, E

[Option ID = 4348]

34) The Indian Government has recently pledged to reduce the projected carbon emissions by

I PR ol 319l a1et 3 rgpenfora wIdar IsIol DI DA Bol D fore =i yferagar s 3 ?

[Question ID = 1088][Question Description = 139_0_GP8_SEP22_S2_Q39]
1. 1 billion tons by 2050
2050 aw 1 fferIol cor bt waft

[Option ID = 4349]
2. 1 billion tons by 2030
2030 awm 1 fferIol cor bt waft

[Option ID = 4350]
3. 2.5 billion tons by 2050
2050 awm 2.5 fiferrer cot &t woft

[Option ID = 4351]
4. 100 million tons by 2030
2030 am 100 farferrr cot &t waft

[Option ID = 4352]

35) During nuclear fission process, the speed of neutrons is reduced to a critical value by using following moderators:
A. Deuterium

B. Graphite

C. Monazite

D. Tritium

E. Heavy Water

Choose the correct answer from the options given below:

srfdrcbrr fRrdset gfepen @ chra forafeRaa sical & qRiler g1 @iferes Arer o) wa fean Sirar 3 :
A. SR

B. Jjwrsc

C. Hlelrsise

D. RRamt

E. s1r8t St

offal fou a1u fraseul 3i 21 &l 3= gl :

[Question ID = 1089][Question Description = 140_0_GP8_SEP22_S2_Q40]
1. A, Cand D only
@dact A, C siz D

[Option ID = 4353]



2. BandE only
act B iz E

[Option ID = 4354]
3. B, Cand D only
@ac B, C 3sfiz D

[Option ID = 4355]
4. DandE only
dact D 3z E

[Option ID = 4356]

36) Given below are two statements
Statement I: Punjab University was established by a Special Act of Incorporation in 1914.
Statement II: University of Allahabad was established by a Special Act of Incorporation in 1887.

In light of the above statements, choose the most appropriate answer from the options given below

offar 31 eret iR are 3 :

@l - | : usia freafdenern 1914 3 v a9y el 3iffiformer gRI Fenfta fopm srim e
Do - |l : sermsars feafdencrr 1887 3 v fadry amaerst sif2ifortar g1 Fenftra e s e
IURfTb il @ sireite 3 fowolfeiRaa fraeul 3 A AT Juyd 302 gol

[Question ID = 1090][Question Description = 141_0_GP8_SEP22_S2_Q41]
1. Both Statement | and Statement Il are correct
werat | 3tz | Srell 21 &

[Option ID = 4357]
2. Both Statement | and Statement Il are incorrect
werat | 8iiz | el steta &

[Option ID = 4358]
3. Statement | is correct but Statement Il is incorrect
el | A 8, fpog @t |l stera

[Option ID = 4359]
4. Statement | is incorrect but Statement Il is correct
el | s1eid 3, fpog weet |1 218 8

[Option ID = 4360]

37) According to the National Education Policy (2020) all affiliated colleges would eventually transform into degree awarding
autonomous colleges over a period of

Irecl foretn oiifer (2020) & sropIrR bl sraf?r didol uz sl Jag Bicsil o1 siaa: Ff} srars ool aral wicsl 3 Fuialyd o2 & sieen ?

[Question ID = 1091][Question Description = 142_0_GP8_SEP22_S2_Q42]
1. 10 years
10 adf

[Option ID = 4361]
2. 15 years

15 adf

[Option ID = 4362]
3. 25years

25 adf

[Option ID = 4363]
4. 30 years

30 adf

[Option ID = 4364]

38) During the British rule who among the following said, "...our system of higher education in India is a failure; that it has sacrificed
the formation of character upon the alter of cram.”

ffeor omter @ Sierer forgaifeii¥aa 3t A1 fapaol war o, "HRa 3 sar ITa PBigm yorrcht fawe 3; $301 221 cetIol a1 A6t uR afyq forerivr &5t afer agr 1 "

[Question ID = 1092][Question Description = 143_0_GP8_SEP22_S2_Q43]
1. Annie Besant
woll fdRioc



[Option ID = 4365]
2. Dalhousie
Sctaiott

[Option ID = 4366]
3. Curzon
ool

[Option ID = 4367]
4. Macaulay
Ficote

[Option ID = 4368]

39) A Government institution recognised as an Institute of Eminence is to get additional funding of

cIeeI-gferss Jdveel @ BU A AlIar-grd ol I3l Fizerret @) fovdsil siferfy s foifer Rrarsft ?

[Question ID = 1093][Question Description = 144_0_GP8_SEP22_S2_Q44]
1. Rs 100 Cr
100 ®as >

[Option ID = 4369]
2. Rs 200 Cr
200 a5 >

[Option ID = 4370]
3. Rs 500 Cr
500 ®As =

[Option ID = 4371]
4. Rs 1000 Cr
1,000 w35 5

[Option ID = 4372]

40) Given below are two statements
Statement I: According to National Education Policy (2020) the Gross Enroliment Ratio (GER) is to be enhanced to 50% by 2030.
Statement II: Distance mode education is going to play a crucial role in enhancing GER in India.

In light of the above statements, choose the most appropriate answer from the options given below

oif<l 51 el Gu e 3 :

Dol - | : IR forem ofifer (2020) & 31GIRIR Al oldHidbl 3iofurd (Sfl.%.3m=.) @Y 2030 aw 50 yferora Hafefa fop=m sirar &
@erel - |l : gzzer anean 181 sirRa 3 Sft.3.3e. @ Jdacksr 3 v Ascayyt syfrat forsmesit

W[t Bl B sireite 3, forFarferRaa faaeal 3 A e IuYTs 392 gol :

[Question ID = 1094][Question Description = 145_0_GP8_SEP22_S2_Q45]

1. Both Statement | and Statement Il are correct
oeral | 32 | Srell 38t &

[Option ID = 4373]
2. Both Statement | and Statement Il are incorrect
oeral | 32 | SYall steta &

[Option ID = 4374]
3. Statement | is correct but Statement Il is incorrect
el | 318t 3, fpog @erer |l srer &

[Option ID = 4375]
4. Statement | is incorrect but Statement Il is correct
el | s1erd &, fpog wera || it 8

[Option ID = 4376]

Topic:- GP_Set2_SHIFT2_C

1) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of how
State arose. They were attempting, rather to understand a government'’s basis of legitimacy. But it is still worth thinking through
whether the first states could have arisen through some form of explicit agreement among tribesmen to establish a centralised
authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the right to do whatever one



pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic security. The State can provide other
kinds of public goods as well, like property rights, roads, currency, uniform, weights and measures, and external defence, which
citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can provide only
limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we would have to

posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over
them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the king and all his
descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments, each of which had the
option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State arose out of an explicit social
contract if the issue motivating it were simply economic, like the protection of property rights or the public goods. Tribal societies
are egalitarian and close-knit kinship groups very free. In contrast, States are coercive and hierarchical. This means the real driver
of state formation is violence or threat of violence.
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The social contract theorists sought explanations:
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[Question ID = 1095][Question Description = 146_0_GP8_SEP22_S2_Q46]
1. For the legitimacy of government
ool Bt Jerer d fere

[Option ID = 4377]
2. For the emergence of the State
A D Igd D e
[Option ID = 4378]
3. To understand the need for authority
el b SMAQADAT bl Aol D fore

[Option ID = 4379]
4. To make social contract as the final cause
ARSI 3rgfder ot siferer foifdrT @ u 3 dotrol @ fere

[Option ID = 4380]

2) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of how
State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth thinking through
whether the first states could have arisen through some form of explicit agreement among tribesmen to establish a centralised
authority. Thomas Hobbes lays out the basic "deal" underlying the State: in return for giving up the right to do whatever one
pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic security. The State can provide other
kinds of public goods as well, like property rights, roads, currency, uniform, weights and measures, and external defence, which
citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can provide only
limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we would have to

posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over
them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the king and all his
descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments, each of which had the



option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State arose out of an explicit social
contract if the issue motivating it were simply economic, like the protection of property rights or the public goods. Tribal societies
are egalitarian and close-knit kinship groups very free. In contrast, States are coercive and hierarchical. This means the real driver
of state formation is violence or threat of violence.
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The State offered each citizen basic security

IS ol YD olPIfed Y el ARSI b1 Ya e

[Question ID = 1096][Question Description = 147_0_GP8_SEP22_S2_Q47]
1. Making the state a Leviathan
ISR DI UD AfRII6T Jollol 3]

[Option ID = 4381]

2. For the privilege of paying taxes
@2 YIdrel D fIUIfEIpR 3G
[Option ID = 4382]

3. For giving up his/her freedom
3APDI/ 3ADI Fadgdr Sisol 3G
[Option ID = 4383]

4. For the right to conscript
IRDRL AdI 3 coTol 3

[Option ID = 4384]

3) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of how
State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth thinking through
whether the first states could have arisen through some form of explicit agreement among tribesmen to establish a centralised
authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the right to do whatever one
pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic security. The State can provide other
kinds of public goods as well, like property rights, roads, currency, uniform, weights and measures, and external defence, which
citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can provide only
limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we would have to

posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over
them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the king and all his
descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments, each of which had the
option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State arose out of an explicit social
contract if the issue motivating it were simply economic, like the protection of property rights or the public goods. Tribal societies
are egalitarian and close-knit kinship groups very free. In contrast, States are coercive and hierarchical. This means the real driver
of state formation is violence or threat of violence.
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What, according to the author, was unlikely?
SURITP JIEN9l @ oI TRAT IRAHTIRIC T ?

[Question ID = 1097][Question Description = 148_0_GP8_SEP22_S2_Q48]
1. Tribal societies were egalitarian.
SToTSIIARI AT AAAMIST

[Option ID = 4385]
2. Tribal societies preferred freedom to live the way they wanted.
SloTSIIclRT ST FAAGAT Dl a3RIAT 1 A1fes A 3ol adlad A 36 AD

[Option ID = 4386]
3. Tribal societies were close-knit kinship groups.
SToTSIIRI AT forde Aol dggdr 3menfyd e &
[Option ID = 4387]
4. The first state arose out of an explicit social contract for promotion of public good.
Ardsiford 3 @ Qiemsot @ fere Juse APRID Siofder 3 YR A DI 3G B3

[Option ID = 4388]

4) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of how
State arose. They were attempting, rather to understand a government's basis of legitimacy. But it is still worth thinking through
whether the first states could have arisen through some form of explicit agreement among tribesmen to establish a centralised
authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for giving up the right to do whatever one
pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic security. The State can provide other
kinds of public goods as well, like property rights, roads, currency, uniform, weights and measures, and external defence, which
citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can provide only
limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we would have to

posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over
them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the king and all his
descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments, each of which had the
option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State arose out of an explicit social
contract if the issue motivating it were simply economic, like the protection of property rights or the public goods. Tribal societies
are egalitarian and close-knit kinship groups very free. In contrast, States are coercive and hierarchical. This means the real driver
of state formation is violence or threat of violence.
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The author's argument is that the first state did not emerge

CI¥I® ®T A & [ YA IS DI 3¢ $AD forg o181 gam a1 ?

[Question ID = 1098][Question Description = 149_0_GP8_SEP22_S2_Q49]
. For public good
ndsiform 8d 3G

1

[Option ID = 4389]

2. For protection from external invasion
QIET ST A BT 3
[Option ID = 4390]

3. From voluntary delegation of power
IIftp @ FARBD BRI 3

[Option ID = 4391]
4. For an efficient cause
ot forfdr g

[Option ID = 4392]

5) Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to give empirical accounts of how
State arose. They were attempting, rather to understand a government'’s basis of legitimacy. But it is still worth thinking through
whether the first states could have arisen through some form of explicit agreement among tribesmen to establish a centralised
authority. Thomas Hobbes lays out the basic "deal" underlying the State: in return for giving up the right to do whatever one
pleases, the State (or Leviathan) through its monopoly of force guarantees each citizen basic security. The State can provide other
kinds of public goods as well, like property rights, roads, currency, uniform, weights and measures, and external defence, which
citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them. Tribal societies can provide only
limited public goods because of their lack of centralised authority. So if the State arose by a social contract, we would have to

posit that at some point in history, a tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over
them. The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the king and all his
descendants. And it would have to be on the basis of consensus on the part of all of the tribal segments, each of which had the
option of simply wandering off if it did not like the deal. It seems highly unlikely that the first State arose out of an explicit social
contract if the issue motivating it were simply economic, like the protection of property rights or the public goods. Tribal societies
are egalitarian and close-knit kinship groups very free. In contrast, States are coercive and hierarchical. This means the real driver
of state formation is violence or threat of violence.
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What does the passage posit in the final analysis?

SURNTD JIEIi9l 3uo 3iferar ferecsuor 3 e $RIT w1 3 ?

[Question ID = 1099][Question Description = 150_0_GP8_SEP22_S2_Q50]



. The state formation is done under the shadow of violence.
Irse1 ol forfur & &bt yferesen 3t fsen sirer 3

[Option ID = 4393]
. Tribal societies voluntarily gave up their rights for limited public good.
Stotsiredlr st of XAfRed u A AHfda Adsiorn Ba 3q smuol iRl @1 ulcieT fvar

[Option ID = 4394]
. State formation and voluntary social contract are inseparable.
A ol forafur Sl ¥R AEln Aesiar sigeraamvfier &

[Option ID = 4395]
. Tribal societies always preferred a dictatorial dynasty.
SlotolIclRT ST of ASd JfIeIRID ardt deit o askerar ¢t 3

[Option ID = 4396]






